MATH 103/GRACEY

DISCRETE PROBABILITY WORKSHEET
Kevin Durant is a rising star in the NBA. He plays for the Oklahoma City Thunder. Kevin’s 3-point field goal percentage is

42.2%.

1. Let X denote the number of 3-point field goals that Kevin makes in four attempts. Find the probability that Kevin

misses all four shots. C - o
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2. Represent the probability distribution in the table below. Let X denote the number of 3-point field goals that

Kevin makes in four attempts. =
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3. Sketch the probablllty histogram which corresponds to the probability distribution from number 2.
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4. Whatis the mean number of 3-point field goals that Kevin will make in four attempts?
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5. Whatis the standard dewatlon of 3-point field goals that Kevin will make in four attempts?
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6. Multiply the number of trials and Kevin’s 3-point field goal percentage (42.2%). What did you find out?
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7. Now multiply the number of trials, Kevin’s 3-point field goal percentage (42.2%), and the complement of Kevin’s
3-point field goal percentage. Then evaluate the square root of your result. What did you find out?
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8. Find the range of values for the usual number of 3-point field goals for Kevin when he attempts four 3-point field

- M= 26 L uualHof Z*ﬁ%’eldjodﬂo &Jﬂft{aﬂnﬁ;éw%
-0.% £ uoudl # of 3 pF frob ool oufoé q'aﬁ@mf;ﬁ <37

9. Would it be considered unusual for Kevin to make four 3-point field goals out of four attempts? Explain.
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